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Unit 1 – The business environment

Employment by Sector

The bar chart below shows the percentage of UK jobs in each sector of the economy; primary, secondary and tertiary.  Use the information it provides to answer the questions below.
1 According to the bar chart, which one of the following statements is true?
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	Primary
	 
	Secondary
	
	Tertiary



	a
	The percentage of people employed in the UK tertiary sector fell from around 20% to around 15% between 1996 and 2010
	 FORMCHECKBOX 


	b
	The secondary sector provides the largest proportion of jobs in the UK
	 FORMCHECKBOX 


	c
	Most people in the UK are employed within service industries
	 FORMCHECKBOX 


	d
	The primary sector is becoming increasingly important for UK jobs
	 FORMCHECKBOX 



2 Describe how UK employment in each of the three sectors has changed between 1996 and 2010.

	


3 What do you think is likely to happen to employment levels in each of the three sectors over the next ten years?
	



This activity offers an opportunity for English and maths skills development.

































Data Sourced from:  www.ons.gov.uk



















